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QUESTION 1

A customer wants to minimize failover time in the event of a node failure in a Hitachi NAS Platform MetroCluster
environment. Which parameter must be set?

A. adminevs_user = hnasmc

B. failover_evs_disable = no

C. failover_evs_disable = yes
D. failover_use_ssws = yes

Correct Answer: B

QUESTION 2

A customer is using the JetMirror object-based replication to mirror their data to a DR site. They now want to perform a
controlled failover due to a planned power outage in their primary site without losing any data. Which two statements are
correct? (Choose two.)

A. The customer must perform a syslock on the primary FS before failover.

B. The customer must have a scheduled replication window of one hour or less.

C. The customer must promote the FS on the DR site.

D. The customer must do a initial synchronization before failover.

Correct Answer: AC

QUESTION 3

The administrator of a production Hitachi NAS Platform 3200 wants to maximize potential performance and fault
tolerance to an attached Hitachi USP V storage system. Which configuration should be used?

A. Use hports 1, 2, 3 and 4 of the Hitachi NAS Platform to connect to different FED ports on cluster 1 of the USP V.
B. Use hports 1, 2, 3 and 4 of the Hitachi NAS Platform to connect to FEDs on cluster 1 and cluster 2 of the USP V.
C. Use hports 4, 5, 6 and 7 of the Hitachi NAS Platform to connect to different FED ports on cluster 1 of the USP V.
D. Use hports 1, 3, 5 and 7 of the Hitachi NAS Platform to connect to FEDs on cluster 1 and cluster 2 on the USP V.

Correct Answer: D

QUESTION 4

You are planning a data migration from a distributed Windows file server environment to a Hitachi NAS platform. You
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have discovered that some of the applications use hard-coded IP addresses. You have also identified that login scripts
are used to map network drives for the end users. Which two methods can you use to minimize impact during the
migration? (Choose two.)

A. Modify the login scripts to point to the new location regardless of host name or IP address.

B. Use CNAME records to preserve the IP addresses for hard-coded applications.

C. Use the same IP addresses on the EVSs as the original server for applications.

D. Use CNS to present a unified namespace and transparently migrate the applications.

Correct Answer: AC

QUESTION 5

A customer is asking for a detailed description of clustering technology on the Hitachi NAS Platform cluster with multiple
GbE ports in the aggregates. Which two statements describe the automatic failover behavior? (Choose two.)

A. Only the EVS affected by a problem will failover to another node.

B. All EVS will failover when a GbE port in an aggregation fails.

C. An EVS will failover when all GbE ports in an aggregation used by an EVS falil.
D. An EVS will not failover when all GbE ports used by an EVS fail.

Correct Answer: AC

QUESTION 6

A customer is considering the purchase of a Hitachi NAS Platform model 3080 or 3090. Their infrastructure includes
both 10 GbE and 1 GbE data networks and they are asking about connectivity support. Which statement is correct?

A. Model 3080 only supports 1 GbE.

B. Model 3080 supports 10 GbE and 1 GbE networks concurrently.
C. Model 3080 supports either 10 GbE or 1 GbE networks.

D. Model 3090 only supports 10 GbE networks.

Correct Answer: B

QUESTION 7

A customer is running Active Directory with Windows 2003 R2 and Windows 2008 servers acting as domain controllers.
They also have a large UNIX environment. They would like to integrate a Hitachi NAS Platform using a centralized user
and group mapping for their heterogenous environment. What should be done?

A. Load the RFC 2307 Schema on the LDAP server.
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B. Downgrade all Windows servers to Windows 2000.
C. Install NIS+ on all the UNIX servers.
D. Enable SMTP for time synchronization between UNIX and Windows.

Correct Answer: A

QUESTION 8

A customer wants to discuss manual site failover design. The solution design must guarantee the replication of file
system snapshots. What should the customer use?

A. TrueCopy

B. Intelligent Data Replication
C. Incremental Data Replication
D. Transfer Primary Access

Correct Answer: A

QUESTION 9

A customer has a heterogenous server and desktop operating systems environment. Users are experiencing
authentication issues across multiple OS platforms. Which business-related qualifiers are relevant for designing a
Hitachi NAS Platform solution to resolve these issues?

A. backup window and SLAs

B. type of external authentication

C. number of concurrent sessions/users

D. type of users\\' tasks and responsibilities

Correct Answer: B

QUESTION 10

A customer has a Hitachi AMS2100 attached to a 2-node Hitachi NAS Platform 3090 cluster. They initially purchased 15
TB and have just purchased an additional 5 TB. They now need to expand their existing storage pools. What must be
considered when expanding the storage pools?

A. All system drives must be of the same size in terms of capacity.

B. All system drives must be offline.

C. All system drives must be in the same system drive group.
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D. All storage pools must be offline.

Correct Answer: A

QUESTION 11

Why should you set superflush in a Hitachi NAS Platform?
A. to improve read performance

B. to improve write performance

C. to flush data from the NVRAM to the sector cache

D. to flush data from the sector cache to the storage system

Correct Answer: B

QUESTION 12

You are discussing Fibre Channel (FC) connectivity requirements with a customer who is comparing the capabilities of
the different Hitachi NAS Platform models. Which model has a minimum connectivity requirement of 4 FC ports?

A. 2200
B. 3080
C. 3100
D. 3200

Correct Answer: D

QUESTION 13

Which Hitachi NAS object-based replication element is embedded within the Windows OS as part of the Microsoft VSS
backup framework?

A. VSS Provider
B. VSS Requestor
C. VSS Writer

D. VSS Service

Correct Answer: D

QUESTION 14
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You are creating a deployment plan for a new Hitachi NAS Platform customer that will meet their recovery and data
consolidation requirements for their NFS and CIFS data. Which two key infrastructure areas must you identify for the
design? (Choose two.)

A. Recovery Point Objective

B. types of servers

C. Recovery Time Objective

D. number of NDS servers

Correct Answer: AC

QUESTION 15

You are designing a solution with a Hitachi NAS Platform 3200 connected to a Hitachi AMS2000 storage system. A key
requirement is to ensure path failover in the event of an AMS storage port failure. Which configuration must be used?

A. path from hports 1, 2, 3 and 4 to each system drive
B. path from hports 1 and 3 to each system drive
C. path from hports 1, 3, 5 and 7 to each system drive
D. path from hports 2 and 4 to each system drive

Correct Answer: C

Latest HHO-450 Dumps HHO0-450 VCE Dumps HHO0-450 Practice Test

Latest HHO-450 Dumps | HH0-450 VCE Dumps | HHO-450 Practice Test 6/6


https://www.passapply.com/hh0-450.html
https://www.passapply.com/hh0-450.html
https://www.passapply.com/hh0-450.html
http://www.tcpdf.org
https://www.passapply.com/hh0-450.html
https://www.passapply.com/hh0-450.html
https://www.passapply.com/hh0-450.html

